
P/N 9645 and P/N 9889 

Mule Rear Bumper 
p/n 9645 fits 3000/3010/4010 and p/n 9889 fits the 600/610 

Includes: 

1. Bumper 

2. (2) Mounting Brackets (L & R) 

3. (4) #14 x 3/4”Tek Screw (self drilling) 

4. (4) 3/8-16 x 1” Black carriage Bolts 

5. (4) 3/8-16 Nylon Nut 

6. (4) 3/8 x 3/4” Self Tapping Hex Washer Head 

Bolts (not pointed) 

Instructions: 

1. Secure Parking brake and put on your safety 

glasses. 

2. Remove tail lights and save (2 or 4) bolts be-

cause you will use them again. 

3. Install light into bumper using stock bolts (see 

picture). 

4. Slip the mounting brackets over the square 

tubes under the rear of the cargo bed.  The 

flanges that the bumper bolts to should face 

each other (see picture).  Using the (4) self 

drilling Tek screws and a cordless drill with a 

nut driver run the screws into the square tube. 

5. Using the large holes in the brackets for a drill 

fixture drill two holes (.328 dia.) per bracket.  

There is a couple extra places to put holes if 

you make a mistake drilling.  Using the 3/8 

self threading screws fasten the brackets to the 

bed (see picture). 

Extreme Metal Products, LLC 
WWW.EXTREMEMETALPRODUCTS.COM 

WARNING:  Bumper should never be used for Road for on road use, it will not protect the driver or 

passengers in the event of an accident.  Bumper should never be used for a  tow strap or tie down point, 

doing so could result in serious injury or death. 


